Quiz Master

CS301(LECT 31 TO 35)

Rizwan Qadeer
All mcqgs are 100% correct. For any type of

help(specially related to CS619 project) you
can contact me. | will quide you properly.

For more information about CS619 you can visit my
Youtube channel

https: //www.youtube.com/channel /UCINsFwDi
B62SValCcPDZbRQ /playlists
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Quiz Start Time: 10- 1254

e percolateDown procedure will move the smaller value and bigger value
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given the values are the array representation of heap;
12 23 26 31 34 44 5664 78 100
What is the 5th smallest element in the given heap?
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11-Quiz No. 1 o o I o Quiz Start Time

Question # & of 10 ( Start time: 10:14:41 AM, 26 August 2020 )

The expression
if { ! heap-=isEmpty() )
checks
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It ahmad 15 boss of ehsan and ehsan is boss of umer then ahmad is also boss of umer.
The above mentioned relation is

Reflexive

Transitive
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Quiz Start Time: 10:18 ALY
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Select the cormrect option

Mot B

Can't be determined
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Which property of equivalence relation is satisfied if we say:
Ahmad R(is related to) Ahmad
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Question # 3 of 10 { Start time: 10:19:36 AM. 26 August 2020 )
If a tree has 50 nodes, then the total edges/links in the tree will be :
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The total number of nodes on 5th level of a perfect binary tree are
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Select the cormrect option

Reflexive . Symmetric

Reflexive | Transitive
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Which of the following heap method lowers the value of key at position 'p’ by the amount "delta’?
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Select the comect option
increasekey(p.delta)
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given the values are the array representation of heap;
12 23 26 31 34 44 5664 78 100
If we perform 4 deletelin operations, the last element dels
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given the values are the array representation of heap;
12 23 26 31 34 44 5664 78 100
What is the 5th smallest element in the given heap?
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All of the above
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Quiz Start Time: 10:24 AM, 26 August 2020

Total Marks: 1

If we want ta find 3rd minimum element from an array of elements, then after applying buildHeap method, how many times deleteMin
method will be called ?

Select the cormrect option
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2 10:25:16 AM. 26 August 2020 )
The total number of nodes on 5th level of a perfect binary tree are
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Which property of equivalence relation is satisfied if we say:
Ahmad is cousin of Ali and Ali is also cousin of Ahmad

Select the comect option

Al of the above
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Faor a perfect binary tree of height 4. What will be the sum of heights of nodes?
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Heap can be used to implement
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Which one of the following is NOT the property of equivalence relation

Select the correct ophion

Transitive
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Which property of equivalence relation is satisfied if we say:
Ahmad is cousin of Ali and Aliis also cousin of Ahmad

Transitivity

All of the above
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Select the comrect option

Reflexive . Symmetric

Reflexive , Transitive
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C3301:Quiz No. 1

For a perfect binary tree of height h, having N nodes, the sum of heights of nodes is
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Select the comrect option
Disjoint
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Quiz Start Time: 10:57 AM. 26

given the values are the array representation of heap;
12 23 26 31 34 44 5664 78 100
If we perform 4 deleteMin operations, the last element deleted is
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Quiz Start Time: 10:57 AM, 26 Auguss,

Which of the following heap method lowers the value of key at position 'p’ by the amount "delta™?
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Select the comect option
increasekey(p.delia)
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If we want to find 3rd minimum element from an array of elements, then after applying buildHeap method, how many times deleteMin
method will be called ?

Select the comrect option
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Quiz Start Time: 10:57 AM,

The total number of nodes on 5th level of a perfect binary tree are

oS

S

O
O
(o
2O
.»
P O
a0
A . A
A.
O
(8
.'
O
(O
VA il
BN
.
O
950
LA _
&
(s
o
()
()
'O
()
’al




oS

S

25 Select the correct option

S

O
()
(8

o)
.»

P O
=)

A . A
A.
()
(8
.'
O

(O

Y i

L @ Bt
.
O

950

(O
O
20
O
50
A.:
&
&
')
&
’al




N ; . ; y o . . 3 ; NS . ; TN R 3 ; »

O, ORI

I s W

s Ar oot A~ "~ $ 3 <A1 g p e J ot A~ o B S AR

26 31 34 44 5664
What is the 5th smallest element in the given heap?
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The expression
if (! heap-=isEmpty() )
checks
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Which of the following properties are satisfied by Equivalence relationship?
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Select the correct option

Reflexive . Symmetric

Reflexive | Transitive
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given the values are the array representation of heap:
12 23 26 31 34 44 5664 78 100
If we perform 4 delsteMin operations, the last element deleted is,

Select the correct option

NS

P T I

QRO

S

ROV

28 A Xy

»

QOROLOY

S AR

S
e




: ; 20", : 4

oS

S

O
O
(o
2O
.»
P O
a0
A . A
A.
O
(8
.'
O
(O
VA il
BN
.
O
950
LA _
&
(s
o
()
()
'O
()
’al




> SERNSRY _. 3 ~on, 2 _. ; . 2 = ‘._._.- AP n )

CS5301:Quiz No. 1 Quiz Start Time: 11:06 AM

Question # 10 of 10 ( Start time: 11:10:44 AM. 26 August 2020)

If ahmad is boss of ehsan and ehsan is boss of umer then ahmad is also boss of umer
The above mentioned relation is

oS

Select the comrect option

S

O
()
(8

o)
.»

P O
=)

A . A
A.
()
(8
.'
O

(O

Y i

L @ Bt
.
O

950

(O
O
20
O
50
A.:
&
&
')
&
’al




